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Sentence Correction Test Question for CGL Tier 2, CGL 

Tier 1, IBPS Clerk Pre, IBPS PO Pre, IBPS SO Pre, SBI 

Clerk Pre, SBI PO Pre & SSC 10+2 Exams 

Sentence correction test Quiz 9 

Directions: In the following questions, some part of the sentence is underlined. 

Which of the options given below the sentence should replace the part underlined to 

make the sentence grammatically correct? If the sentence is correct as it is given  

1. The object of the experimental method in physiology and in 

medicine is to study phenomena in order to becoming their master. 

A. in order of becoming 

B. in order to become 

C. in the wake of 

D. for the sake of 

E. No correction required 

2. I restrain myself for fear of complicating the argument to too great 

an extent. 

A. for fear to 

B. myself of fear of 

C. me for fear of 

D. for fearing by 

E. No correction required 

 



 

 

3. No sooner than he had been elected the CM of UP his supporters 

arranged a reception in his honour in circuit house. 

A. No sooner he was elected the CM of UP than 

B. No sooner he had elected the CM of UP than 

C. No sooner had he elected CM of UP than 

D. No sooner had he been elected the CM of UP than 

E. No correct required 

4. All this have taken 18 years of tenacious efforts of a handful of 

social workers and legal academicians who wrote to the supreme 

court about conditions in the home. 

A. All this has taken 18 years of tenacious efforts of 

B. All this have been taking 18 years of tenacious efforts of 

C. All this have been taking 18 years of tenacious efforts of 

D. All this has been taking 18 years of tenacious efforts of 

E. No correction required 

5. By putting-up a building and to give women the opportunity of a 

protected and normal-seeming life after the exploitation what they 

have been through is only the first step. 

A. Putting-on with a building and giving the women 

B. But putting-up with a building and to give women 

C. But putting-up with a building and giving women 

D. By putting-up a building and giving the women 

E. No correction required 



 

 

6. It is not that people are unkind towards sex workers but the system 

is choked by delay and formality. 

A. but the system is choked with delays and formalities. 

B. but the system is choked from delays and formalities. 

C. instead system is choked of delay and formality. 

D. but system is choked of delay and formality. 

E. No correction required 

7. Since the treaty in its present form cannot come into force, foreign 

minister is selling the line that India has a little to lose by signing it. 

A. because India will not lose by signing it. 

B. that India has little to lose by signing it. 

C. that India has a little to lose to sign it. 

D. as India has little to lose after signing it. 

E. No correction required 

8. He has asked his ministers to take the interest to solve the basic 

problems of the people. 

A. to take the interest in solving of the basic problems of the people. 

B. to take the interest in solving the basic problems of the people. 

C. to take interest in solving the basic problem of the people. 

D. taking interest in solving the basic problems of people. 

E. No correction required 



 

 

9. Apart from playing a supervisory and facilitator’s role, members of 

Indian Medical Council also attended to about a thousand patients in 

the quake-hit areas of Gujarat. 

A. also attended about thousands patients 

B. also attended at about thousand patients 

C. attended also too about thousand patients 

D. also attended to about thousand patient 

E. No correction required 

10. As the vast population in India is living in unhygienic conditions 

and food is scare, their vulnerability for tuberculosis increase greatly. 

A. their vulnerability for tuberculosis being increased greatly. 

B. their vulnerability of tuberculosis increases greatly. 

C. their vulnerability to tuberculosis increases greatly. 

D. their vulnerability of tuberculosis increase greatly. 

E. No correction required  



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 
B E D B D A B C A C 

 

Explanations: 

1. 
We use in order to with an infinitive form of a verb to express the purpose of 

something. It introduces a subordinate clause. It is more common in writing than in 

speaking.  

[Main clause] 

Mrs Sharma had to work full-time 

[subordinate clause] 

in order to earn a living for herself and her family of five children. 

Ex. We all need stress in order to achieve and do our best work. 

We, thus, need to replace the underlined part with 'in order to become' to make it a 

grammatically correct sentence. 

Hence, the option B is correct. 

  

2. 
The sentence requires no correction as it is absolutely correct.  

Hence, the option E is correct. 

  

3. 
Correct the error of correlative conjunction. ‘No sooner … than’ expresses a negative 

sense, and for emphasis, it is placed first in the sentence or the clause and are then 

followed by an inverted form of the verb. In such case it acts as a adverb phrase. No 

sooner had he been than. 

Hence, the option D is correct. 

  

 

 



 

 

4. 
Corrects the error of agreement. Because, ‘all this’ conveys ‘one idea’, so it should be 

treated as singular. 

Hence, the option B is correct. 

 

5. 
Corrects the error of parallel structure of gerund and use of definite article before 

‘women’. 

Hence, the option D is correct.. 

 

6. 
Corrects the prepositional error and error of plural number. Because in the given 

sentence, use of plural number (delays and formalities) is more appropriate as they 

show normal feature of the system. 

Hence, the option A is correct. 

  

7. 
Corrects the use of ‘little’. According to sentence, foreign minister’s line is that India 

has nothing to lose by signing the treaty. So little should be used instead of ‘a little’ 

to express the meaning. 

Hence, the option B is correct. 

  

8. 

Corrects the error of definite article and gerund followed by preposition. In the 

sentence, no particular interest rate is being talked of. So ‘the’ is superfluous before 

interest. ‘Interest’ is followed by preposition ‘in’ and there after verb + ing (gerund). 

Hence, the option C is correct. 

  

9. 
The sentence is correct. 

Attend (verb): 

If you attend to something, you deal with it. If you attend to someone who is hurt or 

injured, you care for them. 



 

 

Ex. The staff will helpfully attend to your needs. 

Ex. The main thing is to attend to the injured. 

Thousand (a num noun): 

A thousand or one thousand is the number 1,000. 

Ex. ...five thousand acres... 

Ex. Visitors can expect to pay about a thousand pounds a day. 

Hence, the option E is correct. 

 

10. 

Corrects the error of sub-verb agreement and preposition. The subject for the verb 

‘increases’ (singular) is ‘their vulnerability’ conveying one idea (singular). Preposition 

‘to’ is used after vulnerability. 

Hence, option C is correct. 
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